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3,004 +50,000m" *50f% 75,100
A&otRA 2 XA 80,000 80,000
402 2I2FX=01 & 80,000 80,000
01 I SASE X (XHMITHR) 80,000 80,000
OAldoteA 22 X
160,000, 000& #50% 80,000
AEGHRA D] XIAY 27,102 39,900 A12,798
== 8,130
= 18,972
402 QI”FX+=201 & 27,102 39,900 A12,798
= 8,130
o 18,972
02 QI X2 AL E R (01X THE) 27,102 39,900 A12,798
OAIEotRA D] X
27,102,000 27,102
s 8,130
s 18,972
St N2MEL0 XA 157,240 171,000 213,760
402 BIZtAH=01A 157,240 171,000 213,760
01 QI X2 AL E X (KHMITHE) 157,240 171,000 A13,760
ON2M&E1(5%) 25,000
ON2M&E1(3E) 90,750
OXMME(10%) 12,000
OXMeME1(20%) 29,490
= HUXI0IE 83 AP (ATHAILXI) 826,020 1,293,250 A467,230
= 493,440
=S 9,774
s 232,806
402 2I2F X201 & 826,020 1,293,250 A467,230
= 493,440
= 99,774
Ea 232,806
02 QI XHZ AL E R (01X THE) 826,020 1,293,250 A467,230
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2A:
X XH -
o e

=aak

10 O O
2>
.
¥
i
Ol

Jm
Ja
=N
more

iI

M- 33 - SA(3) - MRA

- HyS

Ofl &F2H

MEE
Ofl &k2h

OATHAUUXIXIZAIE X

826,020,000

Mo

826,020
493,440

99,774
232,806

AL ICT =8 SHAY

H H W

535,604
243,456

87,644
204,504

460,922

74,682

402 SI2ERHE0I M

HoH W

535,604
243,456

87,644
204,504

460,922

74,682

02 QI RH2AIS 2R (0IETHE)

OAlZ 2 iIsthat

OICTAIE 235

O0UHXIZZ AL XI&E

360, 000, 000& #55%

MW

60,924,000

MW

503,052,900 %55%

Mo W

535,604
198,000
90,000
32,400
75,600
60,924
27,693
9,969
23,262

276,680
125,763

45,275
105,642

460,922

74,682

A H

100,855
30,256
70,599

153,070

AB2,215

M H

100,855
30,256
70,599

153,070

NB2,215

100,855,000

UMY

100,855

100,855
30,25
70,599

153,070

N52,215

Egas MEsia N(HA, =X A8 )

S

HJ

2,500
1,000
1,500

3,000

A500

HJ

2,500
1,000
1,500

3,000

A500
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2A:
X XH -
o e

=aak

ol &rey

MEE
Ofl &k2h

H

2,500

2,500
1,000
1,500

3,000

M

541,200
451,000
90,200

598,800

A57,600

A H

541,200
451,000
90,200

598,800

257,600

=
OMARESEZTE o) HILE2A X

O
=
A
Jin
for
B
Jo
10
0x
=
ne
e
[
I
Hel

402,000,000 *60%

M

=)

=]

500,000, 0003 *60%

MO

541,200

241,200
201,000
40,200

300,000
250,000
50,000

598,800

A57,600

A0S MM BHA(SIOIHIE JHE) At (EEALY)

M H

122,400
102,000
20,400

126,600

N4,200

M

122,400
102,000
20,400

126,600

A4,200

02 RIENZASEZ (01 THR)

O&3UAZ otolHE e X

204,000,000 *60%

M

122,400

122,400
102,000
20,400

126,600

24,200

DFHIDH THHHAIE XIRAMY

HH W

40,568
16,227

7,290
17,051

40,568

402 SI2EXH=201 S

Mo W

40,568
16,227

7,290
17,051

40,568

02 QI A2AIS 2R (0IETHE)
IS THERAIE X1 &

81, 135,000& +50%

Mo

40,568

40,568
16,227
7,290

40,568
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SN MRS
B =9 ASI|Y 25
el JAUSE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 17,051
g Y ADNEY IHIIX XA 352,000 0 352,000
== 220,000
[Ea 132,000
402 212 X201 & 362,000 0 362,000
< 220,000
s 132,000
02 QI X2 AL EE (01X THE) 362,000 0 362,000
OFEEY ANEE WX X
440,000,000 *80% 352,000
= 220,000
Ea 132,000
DEE A0 (=) A2 da|gr 2= 300,000 300,000
402 2I2F X201 & 300,000 300,000
01 QI XHZ AL 2 (KM TH) 300,000 300,000
OR0ll AlEotRs A
50,000,000 *8IH 2= x50f% 200,000
OJ0l AMEoteA HES
20,000,000 *107H 2 #50% 100,000
e = 1,210,062 1,058,600 161,462
= 2,750
Il 54,703
== 24,614
o 1,127,995
Dt A2 XIE AN 91,750 350,150 A258,400
402 2I2E X201 & 91,750 350,150 A\258,400
01 QI XH2AILE R (KA THE) 91,750 350,150 A258,400
OXETAIE & - )| N2 A 76,750
—237I 6,000,000 *4H 2 #50% 12,000
—rsd 370, 0002 *3507H*50f% 64,750
OXE M| XA
6,000, 0002 *5CH*50f% 15,000
JI&STHOH Ol 104,000 130,000 A\26,000
307 elztol & 104,000 130,000 /26,000
02 LB HAHE L 104,000 130,000 226,000
OAHI 1 THal ol & 104,000
—Soll, Aclilol oAl 72,000
—2A Tl oIl 32,000
ot ZHEH ML 79,550 79,900 A350
307 @I2t01 & 62,000 68,500 26,500
02 LB AANHEE 62,000 68,500 26,500
Otz iz I K& 62,000
—2IIF, 7 Al
60,0003 *62 »250ha*40f% 36,000
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SN MRS
B =9 ASI|Y 25
el e ZEEY 2y (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—8EX 10,0003 *6= K| *x250ha*40% 6,000
=34 100, 000& #2&*250ha*40f% 20,000
402 2I2FX=01 & 17,550 11,400 6,150
01 RIEN S A E X (XHMITHR) 17,550 11,400 6,150
Ot==(t{, ==0t) 52 N23HSKH) X 17,550
—HbH 603 *80, 000&H*3hax50% 7,200
—S=0t 203 %60, 000&* Thax5(0% 600
—ne 5021+30, 0003 * 13hax50% 9,750
U NELEAAHA 91,200 236,800 145,600
307 @201 & 91,200 136,800 A\45,600
02 QB HANEEX 91,200 136,800 45,600
OuZel 844 AMKM K&
60,000 %3, 800= *40% 91,200
= MAAIE SHHEXIRA 136,752 77,500 59,252
Jl 54,703
s 24,614
s 57,435
402 212+ X201 & 136,752 77,500 59,252
7l 54,703
= 24,614
o 57,435
02 QI XHE AL E R (01X THE) 136,752 77,500 59,252
OFTAV IS t-datAlE STHSALY
273,504,000 #50% 136,752
Jl 54,703
= 24,614
Ea 57,435
FIAARFZ A& =8 & 2telt] 2,750 2,750 0
= 2,750
307 elztol & 2,750 2,750 0
= 2,750
02 QIIHAANSEE R 2,750 2,750 0
OFTAAIZ A=l =g) & 2eld] X1 2,750
= 2,750
SREEE X 134,760 135,000 A240
402 2I2F X201 & 134,760 135,000 A240
01 IR SASE X (XHMITHR) 134,760 135,000 A240
O& RS XIJAG (LEHDHRA) 134,760
= SSHL X2 A 86,800 46,500 40,300
402 QI+ X201 & 86,800 46,500 40,300
01 QI X2 AL E A (KEHITHE) 86,800 46,500 40,300
Ot STUL TIZ A (2ER})
43,400, 000& *4ha*50% 86,800
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SN MRS
B =9 ASI|Y 25
el e ZEEY 2y (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
b= AAD|BE X2 ALY 482,500 482,500
402 QI”F X201 & 482,500 482,500
01 QI X2 AL E A (KEMITHR) 482,500 482,500
Ot ssI| K& 30,000, 000:& *15CH*50% 225,000
O NAXAX X
20,000, 000& *20CH *50% 200,000
OAL == FHI(HIY) KIEAIY
10,000,000 * 10hax50% 50,000
ORMNEFEXII| X2 A
1,500,000 * 10CH*50% 7,500
HH2LIH(SLRSD) 38,904 43,004 A4,190
J1I=288l 38,904 43,094 A4190
JI=23Hl 38,904 43,094 A4190
201 Ler23 | 29,304 33,134 23,830
01 At2t2ltl 20,764 23,934 A3, 170
O=AEX 7Y
30,0002 158 A #1270 2 +90% 4,860
Oul2U=3 222,000 * 12943 90% 2,398
O=AD| itz 770,000 * 12943 *90% 8,316
OANEEETY
15,0002 x20& * 1201 2 «90% 3,240
O=AM+Y 50,0002 1294 2 600
OF=I| & SIEEI| Xz
125,000 * 1294 *90% 1,350
02 s3=gHl 8,540 9,200 2660
omsxY 224
1,800 %2502 | EI 122 x90% 4,860
ORERs 50,0002 1294 2 600
OAEXY FAl2elbl
600, 000 *1CH*22/*90% 1,080
Ostes 50,0003+ 12042 600
OZEXtg NHSIHA 500,000 *1CH 500
Oo&sitg 28z 900,000 «1TH 900
202 04l 3,360 3,360
01 =LHOHI 3,360 3,360
ORANEg =L
20,0002 x20E 1200 2 +70% 3,360
203 =4l 6,240 6,600 A360
03 A=A 2= 3,000 3,000 0
OAIBFT AR =] 3,000
M EA2HER=AH 3,240 3,600 2360
ORAMZ2EER=2] 3,600,000 *90% 3,240
Hees(sitss) 1,000,000 6,000,000 25,000,000
LIS HHKIE 1,000,000 6,000,000 A5,000,000
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A sttRSH
Hu: HRES(SU4RED
&2l LHEHAHXIE (SH &)
= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
LHEHCH K= 1,000,000 6,000,000 5,000,000
R ISEES 1,000,000 6,000,000 5,000,000
01 JI3HES 1,000,000 6,000,000 A5,000,000
T2 sét=E JHFE)|Ig =4 1,000,000
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